
cg';'lr s 
l;=g+= of]hgfx?sf] gfd hDdf  

  
k|f]h]S6 Dofl6«S; km08 -cfGtl/s cfo,ufpkflnsf 

cg'bfg /lhi6«]zg tyf /fhZj afF8kmfF8 ;d]t _ 
42,95,89,383.00 

1 ;fdflhs ;'/Iff cg'bfg 6,00,00,000.00 

2 uf=kf=df cfjZos kmlg{r/, d]lzg/L cf}hf/ tkm{ 10,00,000.00 
3 zf;lso Ifdtf ljsf; sfo{qmd - LGDCP _ 10,00,000.00 

4 rfn' vr{ tkm{ 4,39,69,000.00 
5 ;8s af]8{ tkm{sf] sfo{qmd 0 
6 ;;t{ tkm{sf] cg'bfgjf6 ;+rfng x'g] sfo{qmd 14,41,00,000.00 
  hDdf afFsL ?= 17,95,20,383.00 
   s = ;dk'/s sf]if tkm{ 1,50,00,000.00 

 

v= ljifout sfof{nonfO{ l;lnª, 

 s[lif zfvf     %),)),))). 

 kz' ;]jf zfvf $),)),))). 

 lzIff zfvf    @),)),))). 

 dlxnf ljsf;  @),)),))). 

 
 

1,30,00,000.00 

 u= ufpkflnsf tyf j8f sfof{no ejg lgdf{0f 1,00,20,383.00 

 3=h]l;lj vl/b 45,00,000.00 

 ª= ljw't kf]n vl/b 1,50,00,000.00 

  
r= s'n sfo{qmd ah]6 ?=-ufpF tyf j8f :tl/o 

of]hgf_ 
12,20,00,000.00 

1=1 cGo ljsf; sfo{qmd -k'jf{wf/ tyf k|j{ågfTds _         
1=1=1 ufpFkflnsf :tl/o of]hgf sfo{qmd 4,20,00,000.00  
1=1=2 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=!  1,00,00,000.00 

1=1=3 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=@  1,00,00,000.00 

1=1=4 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=#  1,00,00,000.00 

1=1=5 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=$  1,00,00,000.00 

1=1=6 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=%  1,00,00,000.00 

1=1=7 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=^  1,00,00,000.00 

1=1=8 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=&  1,00,00,000.00 

1=1=9 j8f k'jf{wf/ ah]6 l;ln+u j8f g+=*  1,00,00,000.00 

 
   

 



l;+= 

g+= 
ljj/0f 

cf=a= 

)&#÷)&$ sf] 

oyfy{ 

cf=j= )&$÷&% 

sf] ;+;f]lwt 

cg'dfg 

cf=a= 

@)&%÷)&^ sf] 

cg'dfgLt cfo s
}lk
mo

t
 

1=1=1 3/w'/L s/   10,00,000.00  aSof}tf 

1=1=2 dfnkf]t÷e'ld s/  10,00,000.00  aSof}tf 

1=1=3 Plss[t ;DkQL s/   25,00,000.00   

1=1=4 ;jf/L ;fwg s/-aflif{s_  50,000.00 100,000.00   

1=1=5 ;jf/L ;fwg s/ -k6s]_  6,00,000.00 10,00,000.00   

1=1=6 axfn s/   50,000.00 50,000.00   

1=1=7 axfn la6f}/L s/       

1=1=8 la1fkg s/  1,50,000.00 1,00,000.00   

1=1=9 dgf]/~hg s/      

1=1=10 Joj;fo s/  5,00,000.00 10,00,000.00   

1=1=11 k|fs[lts ;|f]t pkof]u s/  15,00,000.00 50,00,000.00   

hDdf 000  48,50,000.00 97,50,000.00   

1=2 

1=2=1 ;jf/L kfls{ª z'Ns      

1=2=2 dx;"n tyf ;]jf z'Ns  1000000.00  1,00,000.00   

1=2=3 s[lif k'jf{wf/ lgdf{0f z'Ns  4419000.00 5,00,000.00   

1=2=4 crn ;DklQ d'Nofªsg  100000.00   50,000.00   

1=2=5 cGo ;]jf z'Ns ÷3/ Ans  50,000.00    

1=2=6 Plss[t ljnDa z'Ns      

1=2=7 gfk gS;f ;]jf ;'Ns  50,000.00 50,000.00   

hDdf 000  56,19,000.00 7,00,000.00   

1=3 

1=3=1 

JolQmut 36gf btf{ -hGd, 

d[To", laafx, a;fO{ ;/fO{, 

;DjGw laR5]b, claaflxt_ 

 150,000.00 2,00,000.00   

1=3=2 aGb"s nfO;]G; gljs/0f      

1=3=3 3/af6f] l;kmfl/;  500,000.00  3,00,000.00   

1=3=4 rf/lsNnf l;kmfl/;  300,000.00 3,00,000.00   

1=3=5 gful/stf l;kmfl/;  150,000.00  2,00,000.00   

1=3=6 gS;f kf; b:t'/  100,000.00 5,00,000.00   

1=3=7 gS;fkf; lgj]bg b:t'/  50,000.00    

1=3=8 cGo ;a} l;kmfl/z   250,000.00 2,50,000.00   

hDdf 000 15,00,000.00 17,50,000.00   

1=4 

1=4=1 af]nkq÷b/efpkq  25,000.00 50,000.00   

1=4=2 cGo laqmL -lnnfd====_  50,000.00   50,000.00   



 

3 

3=1 lgzt{ cg'bfg- g]kfn ;/sf/_         

3=1=1 ljlQo ;dfgLs/0f cg'bfg  16,05,81,000. 13,33,00,000.00   

3=1=2 /fhZj jf+8kmf8   6,11,64,000.00  

4 lgzt{ cg'bfg- k|b]z ;/sf/ _     

4=1=1 ljlQo ;dfgLs/0f cg'bfg   1,17,77,000.00   

4=1=2 /fhZj jf+8kmf8   33,73,383.00  

5 zzt{ cg'bfg        

5=1=1 g]kfn ;/sf/ ;;t{ cg'bfg 
 

10,92,91,000. 14,41,00,000.00   

5=1=2 :yfgLo zf;g tyf ;f=lj=sf=   10,00,000.00  

 hDdf  26,,92,91,000.   

hDdf ?= 
 

28,39,21,000.00 35,47,14,383.00   

 

;fdflhs ;'/If cg'bfg 

 5,50,00,000.00 6,00,00,000.00  

       s'n hDdf  33,89,21,000.00 42,95,89,383.00  

 
u08sL ufpkflnsfsf] vr{ tkm{ 

l;
=g
+= ah]^ 

/sd g+ 
ah]^ jlu{s/)f 

cf=j=073÷074 

sf] oyfy{ Joo 

cf=j=074÷075 

sf] ;+;f]lwt 

Joo cg'dfg 

cf=j=075÷076 

sf] Joo  cg'dfg 

1  21111 

tnj÷:yfgLo 

eQf÷dx+uL 

eQf÷kf]zfs 

 15000000. 1,30,00,000.00 

2 21119 kbfwLsf/L eQf  3445000. 70,00,000. 

hDdf 000 75,000.00 1,00,000.00   

1=5 b08 hl/jfgf   5,000.00   50,000.00   

1=6 ;fjfF, Aofh nfef+z / af]gz  0.00       0.00   

1=7 cGo cfo  5,000.00    25,000.00    

 hDdf 000 10,000.00 75,000.00   

cfGtl/s ;|f]t hDdf 000 1,26,30,000.00 1,23,75,000.00   

2 

 2=1 lgsf;L s/  5,00,000.00  20,00,000.00   

2=2 hl8j'l6 sjfl8 / lhjhGt' s/  5,00,000.00 5,00,000.00   

2=3 
3/hUuf /lhi6«]zg  

-dfnkf]t_ 

 10,00,000.00    

hDdf 000 20,00,000.00 25,00,000.00   

s'n hDdf 
 

1,40,19,000.00 1,48,75,000.00 

 



3  
kbfwLsf/L ;+rf/ 

;'ljwf 
  2,00,000.00 

4 21119 a}&s eQf j*f  1000000. 18,00,000. 

5  a}&s eQf ufpkflnsf   8,00,000. 

6 22412 

cGo ;]jf z'Ns  

-s/f/sf sd{rf/Lx?sf] 

tnj_ 

 600000. 20,00,000. 

7 22612 e|d)f vr{  1000000. 12,00,000. 

s= l;=g+=1 b]lv 5 ;Ddsf] -pkef]u 

vr{sf_] s'n hDdf ?= 
00.00  2,10,45,000.00 2,60,00,000. 

6 22111 kflg tyf lah"nL  150000. 100000. 

7 22112 ;+rf/ vr{  100000. 150000. 

8 22112 g]^js{ nufot  100000. 100000. 

9 22121 #/ ef*f  165000. 400000. 

10 22122 cGo ef*f  100000. 300000. 

11 22211 OGwg k|zf;lgs tkm{  150000. 200000. 

12 22211 
Ogwg kbflwsf/L 

;+rfng 
 250000. 300000. 

13 22211 Ogwg sfo{qmd tkm{  100000. 100000. 

14 22212 
df]^/;fO{sn, uf*L 

dd{t ;Def/ 
 300000. 500000. 

15 22212 
cGo ljleGg dd{t 

;Def/ 
 100000. 200000. 

16 22212 

sDKo"^/, lk|G^/, 

kmf]^f]skL, km\ofS; 

vl/b tyf dd{t 

;Def/ 

 100000. 600000. 

17 22213 

;jf/L Ao"a's 

glas/)f, rf}yf]]kIf 

aLdf 

 50000. 50000. 

18 22311 
tf/ l^s^, kf;{n 

x'nfs vr{ 
 25000. 25000. 

19 22311 

af]*{, t'n, Aofg/ 

j*fkq n]vfO{ tyf 

Aoj:yfkg vr{ 

 50000. 150000. 

20 22311 

kmf]^f]skL, sDKo"̂ / 

^fO{k nufotsf cGo 

;]jf vr{ 

 50000. 100000. 

21 22311 ljleGf ('jfgL vr{  100000. 150000. 

22 22311 

sfof{no kqklqsf tyf 

u|fxs z'Ns tyf 

k':ts vl/b 

 50000. 50000. 

23 22311 
j*f sfof{no 

Aoj:yfkg vr{ 
 32,00,000. 20,00,000. 

24 22311 dznGb vr{  1000000. 1000000. 



25 22311 

ljleGg cg";"lr, 

lgj]bg tyf kmd]{^ 

%kfO{ vr{ 

 400000. 500000. 

26 22311 
sfof{no cGo 

Aoj:yfkg vr{  
 100000 200000. 

27 22314 Ogwg –cGo k|of]hg_  50000. 50000. 

28 22611 cg"udg, d"Nofs+g vr{  300000. 300000. 

29 22711 

lbgb"vL÷lj/fdL pkrf/ 

vr{ tyf cfly{s 

;xfotf 

 300000. 300000. 

30 22711 

:jLs[t dgf]/~hg, 

k|b{zg, lrofkfg tyf 

ef]hx? vr{ 

 300000. 400000. 

31 22711 

k|ltlglw d)*nsf] 

:jfut÷cltly ;Tsf/ 

vr{ 

 200000. 200000. 

32 22711 ljljw vr{ cGo  250000. 300000. 

33  

ljleGg dxf]T;j tyf 

sfo{qmdsf] cfof]hs 

;xcfof]hs 

  500000. 

v= l;=g+= 6b]lv 32 ;Ddsf]  

-;+rfng vr{sf]_ s'n hDdf ?= 
00.00  80,40,000.00 91,44,000.00 

33 22411 

ufpkflnsfsf] ljleGg 

P]g,lgod / sfo{lalw 

lgdf{)f 

 500000. 500000. 

34 22511 sd{rf/L tflnd  300000. 300000. 

35 22512 
pkef]Qmf ;ldlt 

cled'lvs/)f uf]i&L 
 200000. 250000. 

36 22512 
/fhZj clea[l$ tyf 

s/bftf lzIff sfo{qmd 
 150000. 250000. 

37 22522 

kl/ifb\ lstfa, gS;f 

lstfa nufot ljljw 

%kfO{ ug]{ 

 400000. 400000. 

38 22522 
ljleGg ;km\̂ ]j/ vl/b 

tyf h*fg vr{  
 000 6,00,000. 

39 22522 
k":ts tyf ;fdfu|L 

vl/b 
 50000. 50,000. 

40 22522 

ljleGg hgr]tgfd"ns 

;"rgf Pj+ la!fkg 

k|sfzg tyf k|zf/)f, 

Pkm=Pd= sfo{qmd 

 150000. 200000. 

41 22522 u|fld)f :jf:Yo sfo{qmd  800000. 1025000. 



;+rfng  

42 22522 uf=kf a|f];/ k|sfzg  100000. 100000. 

43 22522 
v"Nnf lbzf d'Qm If]q 

#f]if)f sfo{qmd 
 300000. 000 

44 22522 

;"zf;g k|jå{gfTds 

sfo{qmd -;fdflhs 

kl/If)f,;fj{hlgs ;"g"jfO{ 

/ ;fj{hlgs kl/If)f_ 

 200000. 300000. 

45 22612 e|d)f vr{ -kbflwsf/L_  250000. 600000. 

46 22711 
k'/:sf/ tyf ;Ddfg 

sfo{qmd 
 50000. 50000. 

47 22711 
of]hgf th'{df ;DjGwL 

j*f e]nf sfo{qmd  
 100000. 100000. 

48 22711 ufp;ef ;+rfng vr{  50000. 100000. 

49 22711 
ufpkflnsf aflif{s 

pT;j 
 50000. 50000. 

50 22711 n]vfkl/If)f vr{   50000. 50000. 

51 22711 

ljleGg lbj; tyf 

;df/f]xsf] cfof]hgf 

tyf ;+rfng 

  200000. 

52 22711 
kblwsf/L tyf 

sd{rf/L cWoog e|d)f 
  300000. 

53  

ufpkflnsf ;*s 

oftfoft u"?of]hgf 

lgdf{)f 

  500000. 

54  
uf=kf= j:t'ut ljj/)f 

cWojlws ug]{  
  500000. 

55  
uf=kf cfjlws of]hgf 

lgdf{)f / df]jfO{n PK; 
  1000000. 

56  
:yfgLo /fhkq 

k|sfzg 
  200000.  

u= l;=g+= 33b]lv 50 ;Ddsf]  

-sfo{qmd vr{sf]_ s'n hDdf ?= 
00.00  37,50,000.00 76,25,000.00 

51   ljkb\ Aoj:yfkg sf]if  300,000.00 300000. 

52   dd{t ;+ef/ ljz]if sf]if  300,000.00 300000. 

53   
dlxnf tyf 

afnaflnsf ljz]if sf]if 
 300,000.00 300000. 

54   sd{rf/L sNof)f sf]if  300,000.00 300000. 

#= l;=g+= 51b]lv 54 ;Ddsf]  

-laz]if sf]if tkm{sf]_ s'n hDdf ?= 
00.00  12,00,000.00  12,00,000. 

1= rfn' vr{ -s, v, u / # 

sf] hDdf _ s'n hDdf ?= 
00.00  3,40,35,000.00  4,39,69,000. 



 


